EARAROBEEIERT — 2 N— IBISH —F

2019547168 (K) 2EEHETH

B=57—>c v5%3%&

‘ [R1%] & ‘ [REBE] — | & (%) 1800 B

[AE4£] 17 :4,000,000F 23 :1,120,000 @ 3 7&:640,000 § 4 7% :400,000 @ . 5 7& : 240,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N TR RIHFAAER : -1-1- — FHERSE (BHE)
=AY i) [ S B B Iy
LIZART—LF— BHHFLXTH P pa ik e
yuya # 3 | EEEH 2:00.0 3-3-22 |41.2| — | 2 | 485 |Hh#EKE (EM)
54.0 ®) (g |FAES
R:7U*—v BR-—F1I7 B B
# 3 | FEHME 2:02.8 | 11-11-11-5 [ 40.7 | — | 10 | 438 |%EE (BEE)
= 54.0 (24 -3) () J P N
LA MLy X BILA—/S— [hilksed
= ¢ 4 3 | LB 2:03.1 9-9-10-7 |41.4| — 8 48 | TEE (BEHE)
NNPZAVS 54.0 (11/2) -2) *I]EEE%
¥ JARA N BT7TRIAHINIT AR
. . = . 9 _EaLHE : —10-9— — StEz (BEHE)
NOFHLF4 X 4 3 ns 2(/(\)37L; 10-10-9-6 | 41.4 11 ;1_431) sy
L:7=9T7+—X B:TIRXT7Xb e ]
: . 3 | BBRZ 2:03.9 6-5-4-3 | 43.8| — 3 478 | RBTiE (1£R)
6l8l11| AV —F71=> e 54.0 ) (-15) %ﬂéj%c}% .
RHELINT Y BiHI L9y USR>S
§ it 3 | EHEE 2:04.3 8-7-6-4 |44.0| — 7 462 | BB (S51R)
715|5| X7—L 54.0 @ (rp) |HEs=E
R g RT—IEY BiYH D AT LTy — L
- R 05. —8-- 9| — HELE— (BHE)
slzlg|l/—Fnvrra 4 3 P 2(035)0 7-8-8-10 | 43.9 4 (4_551) gl
Z:707% BXIXNTrpyiar $#HE IER
N — BRER— : 03— — e TRE (BHE)
9 3| ¥=vavntys it 3 R 2.(076).5 2-2-3-8 | 46.6 9 :1_275) e
R:TFyIaAK BiAAITF2—2X HO%S
. ft 3 | BEHT 2:06.7 5-6-7-11 | 46.2| — 6 423 | EREY ()
fof7{ 9| TV~ b 0 (1) Ga) | BHR
LIART—INF— B:ALT 4 AN FEROE
3 4 3 | AEBR 2:06.8 4-4-5-9 | 46.6 | — 5 41 | AEEY (BHE)
11810/ I b/ 7V 54.0 (7€) va) | MR=E
R:trsn7Oq4 BT RYAVIA b HRIEAKIS
® I —F—@EBIERL
13—74— 2,3,1,10,9,11,8,5,4,7,6
20—F— 2,3,1,10,11,9,5,8,4,7,6
30—7+— 2,1,3,11,10,5,9,8,7,4,6
43—F— 2,1,11,5,6,7,4,3,10,8,9
[ N3
BB 2 1004 714K 1-2 110H % E 1-2 110H 3EHE 1-2-6 5,320/
8 B 2 1004 2-6 2,700 B & 1-2 110H K31 2-1-6 6,880
1 110 1-6 3,310 B H 2-1 130M
6 1,570

ABICOVWTRDTEEERROODE. TR LIV,




